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;1: SECTION - A -
A i) General Awareness
- . Satellite launching station is 6. DRDL stands for
(A) Pune (A} Defence Research and
{(B) Trombay Development Laboratory
(C) Shriharikota (B) Department of Research and
(D) Thumba Devalopment Laboratory
(C} Differential Ressarch and
Epsom (England) is the place Documentation Laboratory
associated with (D) None of the above
{A) Horse racing .
; (B) Polo 7. The highest peak in South India is
0} Sheciog B ‘Dodsisiia
(0 Sngoker (C) Nilgiri hills
First Ghina War was fought between (D)  Anaimudi
ﬁ;:; g:::: :: E::; 8. Gabriel Danigl Fahranhelt was
, (A) a German Physicist
(C) Ching and Egypt (B) developad the mercury
(D) China and Greek thermometer in 1714
. The State that has the largest number (C) devised temperature scale
aof cotton textile mills (D) all of the above
(A) Maharashtra 9. India participated in Olympics
(B) Andhra Pradesh Hockey in
(C) Madhya Pradesh (A) 1918
(D} Gujarat (B) 1928
. : (C) 1938
Frederick Sanger is a twice reciplent (D) 1948
of the Nobel Prize for
(A) Chemistry in 1958 and 1980 10. India's first fast breeder neutron
(B) Physics in 1956 and 1972 reactor was
(C} Chemistry in 1954 and Peace in (A) Zerlina
1962 (B) Apsara
(DY Physics in 1903 and Chemistry in (C) Pumima-l
1911 (D) Kamini
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11.

How much districts are there in
Meghalaya 7
(A) 11

_B) 2

i2.

13.

14,

15.

(C) &
(D) 9

Lala Lajpat Rai is also known as
{A) Sher-e-Punjab

(B) Punjab Kesari

{C) Both({A)and (B)

(D) None of the above

Dsmﬂ' Awards were instituted in
(A) 1968
(B) 1929
(C) 1901
(D) 1965

The trident-shaped symbaol of
Buddhism does not represent
(A) Nirvana
(B) Sangha
(C) Buddha
(D) Dhamma

'Natya - Shastra’ the main source of
India’s classical dances was written by
(A) Nara Muni

(B) Bharat Mun

(C) Abhinav Gupt

(D) Tandu Munl

16.

17.

18.

18,

Kathak is a classical dance of ~ *
(&) Meorth India

(B} Tamil Nadu

(C) Manipur

(D) WKerala

The lead character in the film The
Bandit Queen’ has been played by
{A) Rupa Ganguly

(B) Seema Biswas

{C) Pratiba Sinha

(D) Shabana Azmi

Who wrote the book ‘Remimscances
of the Mehru Age' ?

(A} C.D. Deshmukh

(B) Dr. P.C. Alexander
(C) M, O.Mathai

(D) S. C. Rajagopalachar

The currency of Indonesia is
(A) Rupiah

(B) Dinar

(C) Rangi

(D) Riyal

The Aslatic Society of Bengal was
founded by

(&) BirJames Grant
(B) Max Muller

{C) Sir William Jones
(D) Macaulay
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% L if} General Intelligence and Reasoning Ability
}|r! 21. Optimist is o cheerful as pessimist 24 monopoaly

is to (A) cormupt

(A) gloomy (B) exclusive

(B) mean (C) rich

() petty (D) gigantic

(D}  helpful Directions for Q. No. 25 to 27 : Each

problem consists of three statements.
22. Here are some words transiated from Based on the first wo statements, the third

an artificial language. statement may be true, false, or uncertain.

granamelke means big tree 25, Rover weighs less than Fido.
pinimelke means little tree Rover weighs more than Boomer.
mglkehoon means tree house ELEE three dogs, Boomer weighs the
Which word could mean "big house” 7 If the first two statements are true, the
(A) granahoon third statement is
(B} pinishur (A} True
(C) pinihoon B Taee
(C) Uncertain
(D) melkegrana (D) Certain
question has an underlined word followed wall-to-wall carpeting.
by four answer cholces, You will choose Mo wali-to-wall carpeting is pink.
the word that is a necessary par of the Maone of the offices on the 97 fioor has
uncarined ward. pink wall-to-wall carpeting.
If the first two stataments are trua, the
23. gala third statement is
(A) celebration {A) True
(B) tuxedo (B} False
(C) Uncertain

{C) appetizer
(D) orator

(D) Certain
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h-.‘ (P 27. Class A has a higher enroliment than 29. Arrange the following in a meaningful
X :" Class B. gt il
2 1. Consultation
Class C has a lower enroliment than 5 llneas
Class B. 3. Doctor
Class A has a lower enroliment than 4. Treatmant
Class C. 6. Recovery
{A) 2,3,1,4,5
If the first two statements are true, the (B) 2.3,4,1,5
third statement is C) 4,3,1.2.5
(A) True D}y 5,1,4,3.2
(B) False Directions for Q. No. 30 and 31 : In each

change betweaen the numbers. In other
words, do the numbers increase or
decrease, and by how much ?

(D) Certain

28. Amange the following in a meaningful
30. Lookatthisseries:3,4,7,8,11,12, ...

Sequence
What number should come next 7
1. Shoulder A 7
2. Wrist (B) 10
3. Elbow (C) 14
4. Palm (B} 5
& Finger 31. Lookatthis series: 31, 29, 24, 22,
17, ... What number should come
|:_A:|- 2.4.5.3.1 ng]ﬂ?
(B) 3,1.4,2,5 (A} 15
(C) 3,4,521 (B) 14
c) 13
(DY 6,423 1 ©
Dy 12
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1, )
30. @ 3, 4,7, 8, 11, 12, .. H FEA
2, W e E i Ee
3, FEAl (A) 7
(B) 10 P
4. FU ©) 14 h
. dmeh (D) 18 :.}
31. H@e 34, 20, 24, 22, 17, ... H apwe '
Ay 2.4.5, 3.1 _
s wEnEA R 7
(B) 3.1.4,2,5 (A) 15
[C}) 3,4,5.21 (B) 14
(C) 13
D) 5,423, 1 ©) 12
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d';ﬁ Directions for Q. No. 32to 35 Look 37. BOCB, DED, FGF, HIH, ___
i 4 carefully for the pattern, and then choose (A) JKJ
g which pair of numbers comes next.
(B HJH
32. 62081410812 © Wi
{A) 1410
B) 218 (D} JHJ
(C) 412 -
D) 214 38. P;OR, P,QS, P,QT, P,QV
33. 381318232833 P B
(A) 3944 (B) PQv,
(8) 3644 (€) P,QU
(C) 3843
(D) a7 42 (D) PQ4U
34, 8378726660 54 48 39. QAR, RAS, SAT, TAU,
(A) 4434 (A) UAV
(B) 4238
) 4232 (B) UAT
(D) 4034 (C) TAS
35 40403131222213 (D) TAT
(A) 134
B) 135 Directions for Q. No. 40 : Choose that sat
(C) 413 of numbers from the four alternative sets,
(D) 94 that is similar to the given set,
36,  Which word does NOT belong with 40. (3, 18,38)
the others 7
10,16
(A) dodge (A) (2,10, 18)
B) fiee (B) (4,24, 48)
{C) duck (C) (6,42, 48)
(D) avoid (D) (12,72, 96)
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T (w. %. 324 35) : I =) wygds Hfian
iy apmeft W S o e i |

32, 62081410812
(A) 1410
(B) 218
(C) 412
(D) 214

33. 381318232833
(A) 39 44
(B) 3844
(C) 3843
(D) 3742
L]

34, B4 7B 72666054 48
(A) 4434
(B) 4236
(C) 4232
(D)} 4034

35, 40403131222213
(A) 134
(B) 135
) 413
(D) 94

36, FHETIEE a0 E e
(A) =TI
(B) =W
(C) FEHIET
(D) zEFn

JOD-21/PGT-ENG/X-14

37. BCB, DED, FGF, HIH,
(A) JKJ
(B) HJH
(C) 1
(D) JHJ

38. P,QR,P,QS,P,QT, ____,P,QV
(A} PQW
(B) PQV,
(C) P,QU
(D) PQ,U

39. QAR, RAS, SAT, TAU,
(A) UAV
(B) UAT
(C) TAS
(D) TAT

Few (9. %. 40) : B foEn age S A
e i, et eyt | s fife |

40. (3,18, 36)
(A) (2,10, 18)
(B) (4,24,48)
(C) (6,42, 48)
(D) (12,72, 986)
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41,

43.

iii) Arithmetical and Numerical Ability
48.

A towel, when bleached, was found
to have lost 20% of its length and
10% of its breadth. The percentage
of decrease in area is
(A) 10%
(C) 20%

10.08%
28%

(B)
()

The average monthly income of P and
Qs As. 5,050. The average monthly
income of Q and A is As. 6.250 and
the average monthly income of P and
R Is Rs, 5,200. The monthly income
ofPis

(A} 3,500
(G} 4,050

(B) 4,000
(D) 5,000

At What rate of compound interest per
annum will a sum of Rs. 1,200 become
Hs, 1,348.32 in 2 years 7

(A} B% (B) 65%
(C) 7% (D) 75%

Two ships are sailing in the sea on
the two sides of a lighthouse. The
angle of elevation of the top of the
lighthouse is observed from the ships
are 30° and 45° respectivaly. Il the
ighthouse is 100 m high, the distance
between the two ships Is

(A) 173 m (B) 200m
(€} 273m (D) 300m

The differance of two numbers Is
1366, On dividing the larger number
by the smaller, we get 6 as quotieni
and the 15 as remainder. What is the
smaller number 7
(A) 240

(C) 295

(B) 270
(D) 360

44-

47,

48,

49,

50.

00T 00T

s

In a certain school, 20% of students
are below B years of age. The number
of students above B years of age is 2/3
of the number of students of 8 years
of age which is 48. What is the total
number of students in the schoaol 7
{A) 72 (B 80

Gy 100 (D) 120

In how many ways a Committes,
consisting of 5 men and 6 women
can be formed from 8 men and

10 wamen 7

(A} 288 (B} 540
(Cy 11760 (D} BE400

A lank is filled In 5 hours by three
pipes A, B and C. The pipe C is twice
as fast as B and B |s twice as fast as A.
How much time will pipe A alone take
ta fill the tank 7

(A) 20 hours
(B) 25 hours
(C) 35 hours
(Y None of these

In a class, there are 15 boys and
10 girls. Three students ara selected
al random. The probabliity that 1 girl
and 2 boys are selected, is

(A) 21/46 (B} 25117
(C) 1/50 (D) 385

Six years ago, the ratio of the ages
of Kunal and Sagar was 6 : 5. Four
years hence, the ratio of their ages
will be 11 : 10. What is Sagar's age
at present ¥

(A) 16 years
(B} 18 years
{C) 20years
(D) None of these
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A T 20% H HrEE 10% 3 g
® | &Ewe 3o wite o et g 7
(A) 10% (B} 10.08%
(C) 20% (D} 28%

P 3 @ =it 3 mftE s
5,050%. & | Q 3R A afam mivs
el 5. 6,250 8 3R PR A
e Wit e 2 5,200%. | P

T AnEA (5 )

(A) 3,500 (B} 4,000

(C) 4,050 (D) 5,000
4

for g war = 1,200 5. #af
2a91 | 1,348.32 %, B 7

{A) B % (B) 65%
[€) 7% [0 75%
U A & & Areai 4 9 9w U

FLWE | TR dioEa o T 3
T TequA i FHE 30° W 450§ |
afs Fvemg i S 100 A B, @D
AT | 3o gl #

(A) 173+, (B) 2004,
{C) 2731, (D) 3004,
-'ﬁmﬁmﬂﬁwﬂﬁ | =
63 & 3 159 =90 7 | w gEn
Eack: ik &

(A) 240 (B} 270
(C) 285 (D) 380

46.

47.

48.

49,

% P = d pos B e a=d
FATHHE | 8 HA T FH IW IS
feentaat it g=n 8 w@ & 3w T
el <t wE, S 848, F 2/ 3 e
® 130 =E % g fifa 6 gen
TR 7

(A) 72 (B) 80

(C) 100 (D) 120
81w 3 10 wfEensTi 68 5 g sl e
aieen=t] @ witfa] G wan 4 s
A HFAI S 7

(A) 266 (B) 540
{Cy 11780 (D} 86400

A, B 30 C et 8 v 7 5 W wd
AR | C T BTET A T A R afw
BYRY AYSTH AT B | 3 A
oI5y A g 2ok w13 B e a7
(A) 20 %2 (B) 252

(C) 35 we (D) 36 &% =

UF w1 i 16 T A 10 el E
SmAE w1 # 3 FE F A |
1 TR 31 2 WTE] AT A T
ERICE

(A) 21/48 (B} 25117
{C} 1/50 (D) a/25

BE HiE Y T 30 "R F 39w
ST GG : 5 | T 6 TR 34 36
1 AIRA 11 108 | \eR £ adum
E i

(A) 18EW  (B)
(C} 20H@

18 Hiel
(D) ¥ HHRETH
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A1,

54.

a5,

Three numbers are in the ratio of
3:4: 5 and their L.C.M, |5 2400,
Their H.C.F. is

{A) 40 (B) 80

(CY 120 {3y 200
The sum of the squares of three
numbers is 138, while the sum of thair
products taken two at a time Is 131,
Their sum is

(&) 20

(B) 30

(C) 40

(B} None of these

Two frains of equal length are running
ongearallel ines in the same direction
at 48 km/hr and 36 km/hr. The laster
train passes the slower frain in 36
seconds. The length of each train IS
(A) BOm (B) 72m
(C) BOm (D) B2m

A shopkeeper expacts a gain of
22.5% on his cost price. If In a week,
his sale was of Rs. 392, what was
his profit 7

{A) Rs. 1820

(B) Rs. 70

(C} Rs. 72

(D) Rs.B88.25

Salaries of Ravi and Sumit are in the
rafio 2 ; 3. If the salary of each is
increased by Rs. 4,000, tha new ratio
becomes 40 : 57. What s Sumil’'s
salary ?

(A) Rs. 17,000

(B) Rs. 20,000

(C) Rs. 25,500

(D) Rs. 38,000

586.

57.

60,

U000

An automablle financier claims to be
lending monay al simple interast, but
he includes the interest every six
months for calculating the principal.
It he is charging an interest of 10%,
the effective rate of Inferest becomes
(&) 10%

(B) 10.26%

(C) 10.5% .
(D] None of these

A group of students decided to collect
as many paise from each mamber of
group as is the number of members,
If the total colleclion amounls lo
Bs. 59.29, the numbar of the membe

is the group is
{A) 55 (B) &7
Gy 77 (DY 87

A man complete a journey In

10 hours, He travels first hall of the
journey at the rate of 21 km/hr and
second half at the rate of 24 km/hr.
Find the total joumay in km.

(A) 220 km (B) 224 km
(G} 230 km (D) 234 km

A, B and C can do a piece of work |
20, 30 and 60 days respectively, In
how many days can A do the work 4
he is assisted by B and € on eveny
third day 7 _

(Ay 12 days (B) 15da
{C) 16days (D) 18da

50 men took a dip in a water tank 40

long and 20 m broad on a religiou
day. If the average displacement g
waler by a man Is 4 m*, then tha ris
in the water level In the tank will be
(A) 20cm (B) 25cm
(C) 35em (D) &0cm
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53

54.

{C) 25500%,

i Gt 3 0 4 5 ) ST A 8§ 3
I UAHTH 2400 8 | ZAH UEHETH R

(A} 40 (B) 80
(C) 120 (D) 200
ft HeEn] % = @1 e 1388 TEw
T @ E1 2 HETst ¥ TUEES & WS
2131 | SRS R

(A) 20

(B] 30

(C) 40

(D) % H o A

TR w1 S g HE W

v # fown A ag . i juEm Al
sefe, N HaRa s (FAE

o) 29 &t dp HEs Hun T AW F |
Wl 2 w1 oreET B

(A) 5o (B) 72di
(C) 8sodl. (D) B2,

T FFEAGA AP HHE T 22.5% w6
AT STfeE WA | w o S
farft 302 %, i off, A g g B
L1

(A) 18.20%.
c) 72%

(B) TO%.
(D) 88.257%.

s g a2 3 WA HE |

i 3 A 4,000 %, "edl 9o #

T T 40 57 B ¥ | giEE
AR
(A) 17,000 %. (8) 20,0007,

(D) 38,000 7%.
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% w1 B g e = T 0E 3T
F w2 A € i e O 98 8l
we A Bam T g6 EeE 1 =
e (AR =R 0% FE AT

1 T =T e
(A} 10% (B) 10.25%
(C) 10.5% (D) =NAFEIH

v Feremfeft = snge Fiofa om0 A
TR & 397 88 i fat e o)
R mﬁ?ﬁl Ho R TR 59,20 %,

B 71 30 HR o HeEE e o
(A) 65 (B} 67
(C) 77 (D} 87
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w21 3 gEn AT a 24 T . e

nfs B un Fa 2 | 3GE A AR
f. . dm

(A} 220 %R i, (B) 224 .
(Cy 2307Fs, . Dy 234, i,
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f =m afz 38 B ol © = i fm
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(A) 12 FEe
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e Hiftes am A U 40 o, el ol
20 . Hrer o 26 1 50 el g
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(B) 15 fa=
(D) 18 faam

(B) 254, .
(D) S04, .
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61.

B3.

65,

BE.
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iv) Test of Language : Hindi
s aftero « i

o | T ad a8 7

(4 il (B) wnfaw
(c) fme (D) fie
‘e a2

(A) s (B) =
(C) = (D) =4
‘a1 EEm R

(A) FTER (B) R
(c) Fm (D) e
ol = ) s TEEn @ et R
(A) S (B) Irfan
(C) FTRmm (D) 3
MFfaEan

(A) ¥ (B) AT
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T[T 1= L |

(&) FBAHEELIZ@
(B) FRAHHAFIIZAIR |
(C) aF 21 &) e 33 |
(D) o8 3 F R IaATE

W o HTE g

(A) TE-ATE ¥ HEE
(B) T F

(C) e F=n

(D) Fawe A

68, ‘mamw’ wmrety s R
(A) T+ 3Y (B) T +7y
(C) % + 319 (D) wH: +78

39 69 — 70 : ofty = y=n & TEAE |

69. 3q + 999 =394

(A) =g a (B) Tt afy

[cy gFfedm (D) T=EE
70. B+ TEH = SYEEA

(A) S HM (B) Foerliafy

(cy gfewm (D) TEE

71, ‘EAEmeEaEREE R A i e
Eake e
(M) A Al e
(B) EEH TYL e Tl
() A g wier aTe!
(D) FFET Eter avef

72. W o der e foenedf 3w
Fdl e e, VH e e
& feu s wegams 3 = e € |
feremedl 3 fe e, s U@
aa g )"
(&) =, (B) 38,9
(C) 2, fm (D) 38,

73. R muEu g
(A) d@rEdtagam (B) S

(C) iFf wera (D) WA
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a1.

B2.

v} Test of Language : English
sTeT aRTo ;@ St

Change the Passive : You need to

clean your shoes properly.

(A} Your shoes are needed to clean
proparly.

(B} You are needed to clean your
shoes properly.

(C) Your shoes need to be cleaned
properly,

(D) Your shoes are needed by you 1o
clean property.

Salect the pair which has the same
relationship.

aftar ; before

(AN first : second

(B) present: past

(C) eontemporary : historic

(D) successor: predecessor

Directions for Q. No. 83 and 84 : Choose
tha word which is the exact opposite of the

given words,
B3. Startled
(A} Amused (B) Relaxed
(C) Endiess (D) Astonished
B4. Busy

Ax

(&) Occupled (B} Engrossed
(C) HRelaxed (D} Engaged

Direct/Indirect speech : His father

ordered him to go to his room and

study.

(&) His father said, "Go to your room
and study.”

{B) His father said to him, "Go and
study in your room.”

{C) His father shouted, "Go right now
lo your study room”,

(D) His father said firmly, "Go and
study in your room."”

-

O 0 O 00 A

Directions for Q. Neo. 86 and 87 : Complete
the statemenl

86. "It is an uphill task but you will have
todo " means .

(A) The work is above the hill and yo

will have to do it

(B} Iiis avery easy task but you mus

do il

(€} Itis very difficult 1ask but you hav
todoit

(D) This work is not reserved for yo

but you will have 1o do it

87. “ You are thinking very highly about
Ravi but he is not 80" means
{(A) Raviis as good as you think aba

him
(B) You have a good opinion aboul
Ravi but he is not as good as yo
think
(C} Your view about Ravi is
philosophical, keep it up
(D}  Raviis much better, than what yg
think of him

88. Find the correctly spelt word, |
(A) Vetannary
(B} Veteninary
{C) Vetinary
(D) Vetarinary

B9. Find the correctly spell word,
(&) Chancelary
(B) Chanceliary
(C) Chancelery
(DY Chancallary



80.

1.

g2

3.

wIMIHiIII'IIIiIIHIII'IIIIIIIIIIIIII[IJ i

To be above board

(A} To have a good helght

{B) To be honest in any business
deal

(C) They have no dabis

(D) To Iry to be baatiful

Directions for Q. No. 91 and 92 : One Word
Substitution

A person who knows many foreign
languages

{A) Linguist

(B) Grammarian

(C) Polyglot

(D} Bilingual

One whaoghas little faith in human
sincerity and goodness

(A) Egoist (B) Fatalist

(C) Stoic (D) Cvnic

Order the words : The grocer

P did nol listen to the protesis of
customer

Q: who was in the habit of weighing
less

R : whom he had cheated

S ; with great audacity

The Proper sequence should ba
(A) PRSQ (B) QSRP
(C) QPRS () PQSR

Directions for Q. No. 94 and 95 : Identify
the error,

94,

{Solve as per the direction given
abovea}

(A} | have got
(B) myM.Sc degree
() in 1988

_ (D) Moarror

95,
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(Solve as par the direction given
abovea)

(A} Having received your laller
(B) this moming, we are writing
(C) tothank you for the same.
(D) Noerror

Directions for Q. No. 96 and 97 : in the
following question choose the word which
best expresses the meaning of the given
wiord.

98.

g7.

J4d.

100.

Indict

{A) Condemn
(B) Reprimand
(C) Accuse
(D) Allege

Stringeant

(A) Dry

(B) Strained
{C) Rigorous
(DY Shrill

Piyush behaves strangely at times
and, therefore, nobody gets
with him.

(A)  About

(B) Through

(C) Along

(D) Up

Rohan and Rohit are twin brothers,
but they do not look

(A)  Unigque (B) Differant
(C) Likely (D) Alike
Toerrls_______  toforgive divine,
{A) Breastly (B) Human
(C)  Inhuman (D) Matural
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101,

102,

103.

104,

105.

SECTION-B

R XTSRRI

Post Specific Subject-Related Questions
urT—4d

ez wafairs v ek nea

The last book of Gulliver's travals is
(A) Voyage to Lilliput

(B} Voyage to Brobdingnag

(T} Voyage to Houyhnhnms

{D} Voyage to Laputa

Venus and Adonis is a long narrative
poem by

{A) Edmund Spenser

(B) Sydney

(C) Dryden

(D% Shakespears

In Charlotte Bronte's Jane Eyre, the
mad woman in the attic is

(A) Blanche Ingram
(B) Celine Varens
{C) Bartha Mason
(D) Grace Poole

The author of Leviathan is
{A) Thomas Hobbes
(B) Jonathan Swift

(Cy John Lyly

(D) Francis Bacon

To which kind of poetry does
“The Canterbury Tales' belong 7
{A) Epic

(B) Dramatic

(C) Lyrical

(D) MNarrative

108,

107.

108.

109,

110.

Dr. Johnson's 'The Lives of the Poets’
is an example of

{A) Psychoanalytical criticism

(B) Biographical criticism

(C} Historical criticism

(DY  Archetypal criticism

A matre in which an unaccented
syliable precedes the accented is
called

(A) Dactylic
(B) lambic
(C) Catalectic
(D} Anapaestic

Who of the following did the critic
Hugh Walkar Call “The Prince
among English Essayists” 7

{A} Francis Bacon

(B) Joseph Addison

(C} Charlas Lamb

(D) Oliver Goldsmith

The author of tha short story “The Owl
who was God" is

(A) George Orwell

(BY James Thurbar

(S} Ernest Hemingway
(D) Oscar Wilde

"Sakl” is the pen name of
(A} Somerset Maugham
(B) K.A, Abbas

(C) Wilkie Collins

(D) Hector Hugh Munmo




111. _Is known as the father
of detective stories.

{A) Edgar Allen Poe

{(B) Anton Chekow

(C) Arthur Conan Doyle

(D) Judith Wright

112, The author of "Beowulf " is
(A) Caedmon

(B) Cynewulf

(C) John Gower

(D} MNone of these

113. The pilgrims in the "Canterbury Tales”
were gotng fo

(A} Shrine of S1. Agnes at Canterbury
(B) Shrine of 1. Lucas of Jerusalem
(C) Shrine of St. Thomas at Canterbury

(D) Shrhe of St. Mark in Southwark

114, In Langland's Piers the Plowman,
Piars finally appears as

(A) King

(B) The Holy Trinity

(C) Jesus

(D) The Good Samaritan

115. The first tragedy written in English is
(A) Edward I

(B) Doctor Faustus

(C) The Jew of Malta

D) Gorboduc

116. Reflection on the French Revolution
is & work by

(A} Matthew Amold

{B) Edmund Burke

(C) Wordsworth

{D) Edward King

117.

118,

118,

120.

121,

122,
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is a morality play
revived in the modem age.

(A) Everyman

(B) A Parting

(C) Abraham and lsaac

(D) Shepherd's Garland

Thormas Kyd was the founder of
(A) Romantic tragedy

(B) Romantic comady

(C) Historic tragedy

(D) Restoration comedy

The lines "The lunatic, the lovar
and the poet./Are of imagination all
compact” are spoken by

(A) Theseus

(B) Bottom

(C) Pyramus

(D) Thisbey

Falstaff Is a character in
Shakaespeare’s

(A} Henryl

(B} Measura for Measure
{C) Henry Vill

(D) Henry IV

The Fox is the sub-title of
(A} The Alchemist -
(B) Volpone

(C) Everyman in His Humour
(D) MNone of these

The Jungle Book is a collection of
stories for children.
Ghost stories

Animal stories

Horror stories

Detective

(A)
(B)
(C)
(D)
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123,

124.

125.

126,

The only novel written by
Rudyard Kipling Is

(&) Lord Jim

(B) The Jungle Book
(G) The Secretl Agent
(D) Kim

The expression "Ancestral Volces
Prophesying War™ oocurs in

(A} Christabel

(B) Rime of the Ancient Mariner
(G} Kubla Khan

(D) Frost at Midnight

The soul of tragedy, according to
Arfstotle is

(A} Character

(B) Plot

(C) Diction

(D) Spectacle

The correct chronological sequence

of the following books is

(A) The Madal ; Astrea Redux ;
Annus Mirabilis | Absalom and
Achitophel

{(B) Astrea Redux ; Annus Mirabilis ;
Absalom and Achitophsl ;
The Medal

(C) Annus Mirabilis ; Absalom and
Achitophel ; The Medal ;
Astrea Redux

(D) Astrea Redux ; Annus Mirabilis ;
The Medal ;| Absalom and
Achitophel

127,

128,

128,

130.

131.

132.

‘Dictlon’ means

(A) Severity of prose

(B) Devices of matre and rhyme
(C) Syntax and word order

(D) Poetic device

Arthur Miller's “Tha Death of a
Salesman” is chiefly about

(A} Amarican dream

(B) American impanalism

(C) American pragmaticism
(D}  Amarican transcendentalism

The figure of speech used In the
gxpression "Murderous innocence of
the sea” is

(A} Onomatoposia

(B} Personification

(C) Owxymoron

(D) SBimile

Mrs. Malaprop is a character in
(A} The Dolls House

(B} Pygmalion

(C) The Maid's Tragedy

(D} The Rivals

Samuel Butlers Hudibras Is modelled
upon

(A} Astrophel and Stalla

(B} Don Quixote

(C) Pilgrims Progress

(D} Volpone

“Essays of Elia" are

{A) Political ideclogy

(B) Social criticism

(C) Permsonal impressions
(D) Literary crificism
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134,

135.

138,

137.

138,

Asx

‘Dream Play’ 15 a famous work of
(A) Strindberg

(B) Zola

(C} A. C. Swinburna

(D) Amy Lowell

Whao is not a member of the
Bloomsbury Group 7

{(A) E.M. Forster

(B) Leonard Woolf

(C) Lytton Strachey

(D) G.B.Shaw

Who is the Pioneer of the Aesthetic
Movement 7

(A) Walter Pater

(B) John Hanry Newman

(€} Stevenson

(D) De.ca{ Wilde

The Oxford Movemeant was
fundamentally a movement far
(A) Social reform

(B} Religious reform

(C) Political reform

(D) Economic reform

The author of “'Les Fleurs du mal" is
(A) Flaubert

(8) Mallarme

(C) Baudelaire

(D) Gautier

Which novel of Hardy partrays a girl
"Simple, Sensuous and Passionate’
who never comes o terms with the
world ?

(A) The Retum of the Nafive

(B) Tess of the D'Urbervilles

(C)  The Mayor of Casterbridge

(D) The Woodtanders

139.

140.

141.

142.

143.
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Which of tha following works by
Stevanson llustrates the
doublenass of man's nature ?

{A) Treasure Island

(B] Kidnapped

{C)  Weir of Hermiston

(D) Dr. Jekyll and Mr. Hyde

The novel The Man Who was
Thursday' was written by

(A] Joseph Conrad
(B) G.K.Chesterton
{C) Rudyard Kipling
(D) H. G. Wells

In his novels of character, H. G. Wells

portrays
(A) Lower middie class

(B) Tha Aristocratic class
(C) Lower class
(D) The Capitalists

‘Weena' isa character in H. G. Wells'
novel

(A} The Invisible Man
(B) The Wheels of Chance

(C) Kipps
(D) The Time Machine

Joseph Conrad's novels deal with
the adveniure and romance of

(A} Nountain life
(B) Sea life

(C) City life

(D} Social life
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144, Waklter de la Mare is a poet of
(A) the Georgian period
(B) the Romantic period
{C) the Victorlan period
(D) the Edwardian period

145, In Shaw's play, a
professor changes the life of a flower
girl.

(A) Candida

(B) Widower's House
(C) The Apple Cart
(D) Pygmalion

146. Conrad's novel, _ is setin
Tearist Russia.
(A) Under Western Eyes
(B) MNostromo
(C) Almayer's Folly
(D) The Nigger of the Narcissus

147. In Shaw's St Joan, Joan tnes to
frea from the
English armies.

(A) haly

(B) Austria
(C) France
(D) Germany

148. "Relations" is a poem by
(A} A, K. Ramanujan
(B) Sarojinl Naidu
{C} Toru Dutt
(D} Nissim Ezekiel

148,

150,

151,

152.

153.

The story in which Kamala Das refer
o a Lesbian relationship is

(A) lgqbal

(B) The Guesl

(CY The Doll for the child prostitute
(D) Inlove

The author of ‘The Homa and The
World' is

(A) Manmohan Ghose

{B) Sl Aurobindo

(C} Rabindranath Tagore

(D) Mulk Baj Anand

In which of the following novels d
incidents ralating to the declarationd
emargency in India figure ?

(A) Bombay Duck

(B} A Suitable Boy

(C) Such a Long Journey

(DY  English, August : An Indian

“She Ig Inspired but diabolically
inspired”. Who does this line refer 1o

(&) Candida

(B) Saint Joan

(C) Major Barbara
(D} Ann White Field

“American Dream” is the name ol
character in Edward Albes's

{A) Amaerican Dream

(B) A Zoo Story

(C) Tha Death of Bessie Smith
(D) Who's Afraid of Virginia Woo
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"Anagnorisis” s a term used by
Aristotle for describing

{A)  the moment of discovery by the
protagonist

the reversal of fortune for the
protagonist

the crisis reaching Its height
the character giving vent to his
emotions

(B)

(C)
(2)

155. Walt Whitman's "O Captain, My
Captain” is an elegy on

{A) John F, Kennedy

(B} Abraham Lincoin

(C) Boswell

(D) His father

156, Who of theqollowing is known for

apharistic prose style 7
{A) Willlam Hazlitt
(B) Charles Lamb
(C) G. K.Chesterion
(B) Francis Bacon

167, “Imagism’” is asscciated with
(A} D.H. Lawrence

(B) Benedetto Croce

(G} T.S. Elot

(D) T.E Hulme

188, "Beyond Imterpretation” is a famous
essay by

(A} Jonathan Culler

(B} Walter Benjamin

{C) Terry Eagleton

(D) Barthes

A

o

169.

160,

181,

162.

163.
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An “ldyll" is usually a poem about a
(A) Pictlurasgue city life

(B) Panoramic view of nature

(C) Picture of industrial society

(D) Picturesque country Iife

The term “stream ol consciousnass” —
is derived from the writing of

(A) Virginia Woolf

(B) Willlam James

(C) Gertrude Siein

(D) D. H. Lawrencs

The lines “Not that he wished is
greainess 10 create/for politiclans
neither love nor hate" occur in

(A) Mac Flecknoe

(B) The Rape of the Lock
(C) Absalom and Achitophel
(D} Essay on Man

"Our birth Is but a sleepand a

forgetling” is a line from

(A) Preludes

(B) Dejection : An Ode

(C) Immortality Ode \
(D) Tintern Abbey

U. R. Ananthamurthy's novel
Samskara was translated from
Kannada into English by

(A) H. 5. Shivaprakash
(B) A. K. Ramanujan
(C) G.Parthasarathi
(D) Shiv. K. Kumar
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164, “Understanding Poetry" by Brooks

and Warrén encapsulates the
principles of

(A) Mew criticlsm

(B) Mew historicism

(C) Reader-response theory
(D) Marxist crificism

165. “Imagined Communities” Is & concepl

propounded by

(A) Gayathri Splvak
(B} Ashish Mandy

({C) Benedict Anderson
(D} Walter Benjamin

166. Which of the following novels has the
Ihea"le of freedom of Muslim Women 7

(A) Sunlight on a Broken Column
(B) InCustody

(C) Dark Holds No Terror

(D} The Shadow Linas

167. The phrase, “Monuments of unageing

intellect” oceurs in Yeats'
iA) Byzantium

(B) Among school children
(C) Adam's Curse

(D} Sailing to Byzantium

168.

Whio among the following is a
Canadian crific 7

{A) Terry Eagleton

(B) F. A Lavis

(C) Morthrop Frye

(D) Cleanth Brooks

169,

170.

171,

172,

173,

“Ripenass is all" is a lina from
(A) Macbeth

(B) Julius Caasar

({C) Hamletl

(D} King Lear

The technigque used in the ling,
“someathing there is, thal doasn’l
love a wall” Is

(A) Anepithet
(B} Invarsion
(C) Litotes

(¥ Neologism

“Thara Is nothing oulside the text" Is
an important aspect of

(A} Beader-response theory

(B) WNew criticism

(C) Deconstruction

(D)  Structuralism

Tha letter ‘A" al different points in
"The Scarlet Letier” stands for the
following ideas excapl

{A)  Adultery
(B) Able

(C) Angel
(D) Appetite

John Crowe Ransom's "God without

Thunder : An Unorthodox Defence of

Orthodoxy" is an attack on

(A) Pdiiticalization of life

(B) Moral disintegration

(C) Science for destroying the o
mystery of God

(D} Science for not bringing man {
promised happiness
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175.

176.

177.

“Poetry sheds no tears 'such as
Angels weep', but natural and
human tears,” are lines by

(A} Wordsworth
(B) Shelley
(C) Coleridge
(D) Keals

Amold was the first English critic to
strass upon the necessity of

(A) Dialectical criticism

(B) Comparafive criticism

{C) Functional criicism

(D) L':Iassical criticism

In his major criticism D. H. Lawrence

makas a distinclion between

(A) Knowledge and power

(B) Sensitive mind and intellectual
AWareness

(C) Education and ignorance

(D) Intuition and the mind, instinct of
the body and intellect of the mind

The phrase "dissociation of
sensibility” was first used by Eliot
In his

{A) Frontiers of criticism

{B) Tradition and individual talent
(C) Metaphysical poets

(D} Essay on Hamlet
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“The Principles of Literary Criticism”
Is a famous work of

(A} |. A. Richards

(B) Cleanth Brooks

(C) William Empson

(D) John Crowe Ransom

The pen-name 'Alpha of the Plough'
refers to the essayist

(A) W.M. Thackeray

(B) A G.Gardiner

(C) E.V.Lucas

(D) Oliver Goldsmith

“The Negro Artist and the Racial
Mountain : The Manifesto of the
Harlem Renalssance' is a short
essay by

{A) Larry Neal

(B) James Baldwin

(C) Alaine Locke

(D) Langston Hughes

Who of the following wrote “Eros and
Chvilization" 7

(A} Jacguer Lacan
(B) Sigmund Freud
(C) Karl Jung

(D) Herbert Marcuse

What is the comman factor in fitarature
written by Commonwealth writers 7

(A) Colonial experience and English
Language

(B} Christianity

(C) British Influence on Governance

(D) Supariority of English Languag:

=




e —

L omrE—

JOD-21/PGT-ENG/X-14

183

184,

185.

186

187,

A

“Marg" a reputed Indian journal of arts
was edited by

(A} Raja Rao

(B) Mulk Raj Anand

(C) Bhabani Bhattacharya
(0} G, Parthasarathi

Which of the following novels by
H. K. Narayan has a character called
Susila ?

(A}  Mr, Sampath

(B} The Dark Room

{C) The English Teacher

(D} Grand Mother's Tale
&
Which novel of Kamala Markandaya

explores the evil and ugly nature of
racial prejudice 7

(A) MNectar in a sieve

(B) Possession
(C) Some Inner tury
(0) The Nowhere Man

_ _____Is an untouchable in “The
zod of Small Things.”

(&) Father Mulligan

(8) Velutha

(C) Esthappen

(D) Pappachi

“Lajja” is a well known work of
(A) Manju Kapur

(B) Kamala Das

(C) Taslima Nasreen

(D) Shashi Deshpande

-30-
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Salman Rushdie’s first novel is

{A] SBhame

(B) Midnights Children
(C) Grimus

(0} The Satanic Versus

Ratan Rathor is a character in Arun
Joshi's novel

{A) The Strange Case of Billy Biswas
(B} The Apprentice

(C) The Last Labyrinth

(D) The City and the River

The author of *The Great Indian Novel” is
(A) Amitar Gosh

(B) Humayun Kabir

(C) Upamanyu Chattarjes

(D) Shashi Tharoor

MNgugl in "Weep Not, Child™ calls the

Kenyan youth 1o

(A) Rebel

(B) Protest

(C) Build the nation

(D) Identify and understand the
features of their haritags

Tha author of the paradoxical phrase —
“To gain his freedom, the author must
give up his freedom”

{A) Wole Soyinka
{(B) Ngugi

(C) Chinua Achebe
(D) Nadine Gordimer




GQE. "Diaspora” means

194,
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(A] Exile
(B) Movemeni
{C) Going away from home

(D) The movement of people to a

country away fram thair own

What is the chronological sequence of

Chinua Achebe's African Triclogy 7

(A} Things Fall Apart ~ No Longer at

Ease — Arrow of God

(B) No Longer at Ease — Things Fall

Apart - Arrow of God

(C) Arrow of God - Things Fall Apart

- Ng Longer at Ease

{0) Things Fall Apart — Arrow of God

- No Longer at Easa

“l am the enemy you killed, my frignd/
| knéw you in this dark” are the lines
from

(A) The Soldier
(B) Strange Meeting
({C) Ulyssas

(D) To his dead body

Pariphrasis, which s a round about
way of speech or writing is also
known as

(A) Allusion

(B) Synecdoche

(C) Litotes

(D) Circumlocution

197.
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Who among the following writers
belonged to the Amernican Beaatl
Movement ?

(A) Charles Baard
(B) Isaac McCaslin
(C) Allen Ginsberg

(D) Thomas Paine

Which of the following is a Parody of
Gothic noveals 7

(A} Frankensigin

(B) Morthanger Abbey
(C) Mysteries of Udolfo
(D) Jane Eyre

Verse that has no set thema, no
regular metre, rhyme or stanzaic
pattern is called

(A) Blank Verse

(B} Flexible Verse

(C} Heroic Verse

(D) Free Verse

The terms “resonanca” and “wondar™
are associated with

(A)  Willium Empson

(B) Terence Hawkes
(€} Roland Barthes
(D) Stephen Greenblatt
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IMPORTANT INSTRUCTIONS TO CANDIDATES

Fefraamt & o mewagot aan

11. This booklat containg 32 pages.

12 Ploaso check all the pages of the Booklet
carafully. In case ol any defect, please ask
the Invigitator for replacemant of the Bookist,

13 Directions : Each quastion or incomplete

statamant is followead by four alternative

sigoesied answers or completions: In each
case, you are required o select the one that
correctly answers the guastion or completes
the sialemant and blacken (@) appropriate
circha A, B, C or Dby BlueiBlack Ball-Paint Pen
against the question concerned in the

Answar-Shesl. (For V.H. candidates

cormesponding circle will be blackened

by the scriba)

14, Mak your answer by shading the appropniate
circle agains! sach question. The circle should

be shaded complataty without leaving any space.
The porrect method of shading is given below.

w--wmem '.r.hnrqumr:,;-iﬂ baird
(ol Tele] [ol" Jele] (o] Tolse][s] ol
The Candidate must mark hisher responss
afler careful consideration.

15, Thers ig only one corrach answear 1o each
question. Yau should blackan (@) the clrele
of the appropriate column, viz., A/ B, CaorD
If you blacken (@) more than one circle
against any one guestion, the answer will be
roated ps wrong. Il you wish to cancel any
answer, youl shoukd complately arass that black
ik i the gircle in the Answar-Sheat, and
ihen backen the circle of revised responss,

A maching will read the coded information
in the OMR Answar-Shael. In casa the
infarmation s Incomplefe/differant from the
mformafion given in the application form, the
candidature of such candidate will be treated
as canca|leo,

17. Use the space for rough work given in the
Question Booklel only and not on the
Answear-Sheol

18, You are NOT required to mark your answers
in this Booklet. All answers musl be
indicated In the Answer-Sheet only.
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A

9.




